Total Marks: 19 Class:10th Time:15min
Subject:English(Objective)
A- Choose the Correct form of verb
1
I Lcwnpmisvini hard, I would have passed the examination.
a)work b)worked ¢) have work d) am working
2
They already ............. their home task.
addo b)did c)have done d)has done
3 e
I was sitting in the café whenyou .............. me.
a)call b)ealled cwill call d) calling
4
The DS e before we stepped out.
a)had stopped  b) stops ¢) stop dwill stop
Our team ...... the match.
a) is win b) winning ¢) be winning d) won
B-Choose the word with correct spelling
1
competetion b)conipitition c)campetition d)competition
2 . . . .
a)inrances b)surancein c)insruncen d)insurance
a)courage b)corage cJcoarge dcoirge
4
a)standard b)standerd c)standred d)stanndared
C-Choose the Correct Option
1
Evefybody enjoys a good movie. The underlined word is a [an... pronoun.
a) definite b) reflexive ¢) indefinite d)personal

2 ;
The antonym of owner is:

a)accountant b)noble c)holder d)general manager
3

Elder present: ows e packets to unmarried members of the family.

a)black b)white cred dJpink

4
The word 'enhance' means:

areduce blimprove ¢)dull d) obey
’ This book is better that.
a)with blby c)than drto

D-Choose the Correct Option

1
Everybody enjoys a good movie. Itisa ;
a)definite article  b)indefinite pronoun c)personal pronoun d)relative pronoun

2
He takes his father.
a)after blto ¢)within dat

3
He take some medicine for that cough. Which modal verb shows strong abligation?

a)should b)would ¢)must not dmust

4
He acted as ifhe owned a car. The underlined word means:

a)worked bladvised c)showed d) prefer
We drive fast; we have plenty of time. Choose the best modal verb.
a)must not b)should not c)would not d)eould not
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